	These are the numeric solutions.  But, ask yourself how you would report these to the mining company.



1)  optimal solution

$22,200

X1 (days mine 1) is 5.5

X2 (days mine 2) is 7.0
2)  value of slack/surplus values

(B1) surplus in high grade ore is 6.0

Note:  To report this to the mining company, you would write something like the following:  You will use 6 more tons of high grade ore above the 41 tons that is required.
(B3) surplus in low grade ore is 29.0

(B4) slack in days for mine 1 is 1.5
3)  value of shadow price(s)

(B2: medium grade ore) s.p is 1000.00  

Cost will go up by $1000 if you add one more unit of medium grade ore

(B5: days mine 2) s.p. is -400.00

Cost will go down by $400.00 if you add one more day to mine 2 (of course, this is not possible because there are only 7 days in a week)
